0001701098928999

0O FIIZEXY 00—

03 L4077 $E3IM

3 | P 30U ABCD 5% Y, AD =5, BC = 10, X84 BD = vOI, /BAD = 120° T2 —

5
(1) AB= THY, =il ABD DL S, = ThHB.

5
(2) =fI BCD wuifin S, = 433 g, pC = D?:| Th3.
(3) Zomm bt —208 iy
4) ZomAOTRE O &Ly ¥, j:.ﬁaifé BOD O it Sy = % TH5.
7 2

(1) AB= x st 233258 )

i) = Fe A ez b cos 1267
c trbx -4 =0

et 1)(x—=¢)=0 A>0d) AB=4 &
,S;=§[-b‘-6'r?h/20°= @21;

[

(2) MAFLABCD AP Mtz [Tudol, £8cp = 40

- L2 = 5/-/0-95 sind0°
53
- Fppe c EAvestE peey
" /31 V2493
@) IFEFER ). —oap T2k 2 RE
) LBoD = 2-28¢Hp (AR 9208 ™ F10f 50 7) »
: C R
L LBoD T/ ”
s _ / 1‘-?73 2_ _. o 0
’ Sj*"z"("j_" Sin [20 3 R
- 91

/2

Y/




